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1. If y = Az + B is an equation of the tangent line to the graph of f(z) = 2+e®tanz
., #23 at the point (0,2), then A1 B2 =

?i 3
(a‘) i) = % % (correct)
(b) 4 Sz 0+ & .5ecx + tanx e
/
() 1 s']c'pe: $¢):6 +1+0 =1
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S 3 +3 dy (e« 3x . O s
2. Ify= —5——, then = = -
z° +2 dx C%?-+2\
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(a) = (Zzﬁ i 2)26x foelit (correct)
z + 322 — 2z 4 o
(b) @+ 27 2 ¢ o -{-162 :éx
e 4 s (Q: +2)
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322 - 2z
(d) (z2+2)2
B—z241

(e)
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3. All edges of a cube are expanding at a rate of 3 cm/s. How fast is the volume
changing when each edge is 2 cm?

a) 36cm3/s

b) 12em?/s

_{'_ N .«_Q a

o™

(correct)
<2 e
g/ dV_ 7 uwhen =2
dt

Lveod = 9Y.s 4X

25(1f- 3

= Q4

>z 36C

4. Let f be a differentiable function and have an inverse on (—00,0). Assume that
f(2) =6, f'(2) =4, f(6) = 1, and f'(6) = 2. Then (f~')(6) =

(correct)

1
(2) 7 » I

1 =gy o %
®) 3 (5 ) §CCF (o)
(c) 1
OF el
(e)g '_Jc’(z)
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5. Using Newton’s Method to approximate the zero(s) of the function

f(z) =z — 3+ Inz, we get the iterative formula ’g o ‘ ,S‘,fx] : H—-L 23:\
% oo = ey = oo g Bl - S
4 1 da 3 (xn)
(ﬂ) Tnt+l = xul;::illnxn /ﬂ“ (correct)
(b) - 22 — 2 zaing, e Ay =3+ 3%
i Tn+1 S X+
o 12—z, +z,In1, 2,
n+l = 2
Th+1 P -3y +Xn Jh\l\q
-2z, — z,Inz, - X, -
(d) Tn+l = ] rx_n-i-‘
o 2
(i 4z, + 2z, Inz, Ly +Xn — ’JC:, +3%p Ty -ﬂ’“xh
n+l — -
S 1 % + \
fon ‘-'Dch /ale"l
e s -
# (L4 134
n 1ula
t (100)
6. If f(x) y hen fU%(1)
9 100
(a) (5) - 100! — (correct)
- 2
10 ,g(x) 5 . (4x+2)
(b) — (5) - 100! j‘} ‘Y\ 6. (=) (le-c-z] o
= 8 i 5
© 6 (2)100 o g” o Lo LANER (4x+2) ‘_:l ;
A= Y | x
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~7H (83,154
539 7 Let f(1) = -3, /(1) = 6,9(2) = 2, and ¢(2) = 4. If h(a) = f ( (3:))’ e
K (2) = , 3(7() S %(X)

;'\ 6 = f ( ) (S(K))"

(a) -9 5,( =3 3(2) - 2.6"(2‘] (correct)
(b) 27 ’(z) = A =
3 v " (e
© =3 5/(\ 2 -2:4
9 1)
@3 4
(e) =3 o
T P
4
4 =1 g
--3% -9
A 'Q.'( S)'
&

8. The slope of the tangent line to the curve
2 + tan(zy) = 2% + y* + tan(1)

at the point (1,1) is equal to

-]

S—

(a (correct)
b 2 —sec?1 - Secz' f?(f)) [131_‘_3] = 2% +23 '3’+°
(b) 1 —sec?l - /
(c) 2 e L . 2 +29
o Ly'+) [
4 sec? 1 .5&2.. 9 w24
()2—-86021 S'e:__‘ ‘.3 .,.S-ea.\ 5 K
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10,1 f(@) = (1+ i)

a

then f'(1) =

P f = o (_'*71‘)1' =% fa(1+})

—1+4+2In2
b

(a)

(b)

(c) 1+21n2
) 2
)

——+-1n2

(d) 2—In2
(e) 2+ 2In2

(correct)

T
('K 0 g o_____ s (141 4
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2
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9. Ify = (ii§)521§; then the value Ofij-y-atx—hs il
#lY : ]
Doy = Il ) +In(3 V%) ~falus %) b
1
(a) 15 1{3 (correc ) ‘_1
15 _‘“—-.13‘ 1 | . SRRy, i %% s N
(b)g 3 L*ﬁ zﬁ. 3_35 qﬁj\‘: Y
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~ #3%
$36 11.1f f(z) = rtan™! (g) —In(4 4 2?), then f'(z) =
1 ) \
flaeai it 4 AL o
(a) tan™! (—:E) d (% = (.H’Lt)
2 correc
- 27(_
(b) tan™! (3) = — P B W e
(2) 4+3172 = Igee ‘s T ( Qe
(c) ztan™! (g) yprp -
H s
4 i F W ~
(0 s (g) 5a +xx2 5 Y, b 123 L"“x-l
4z
tan 1 (2] + -\
(e) tan (2) 1120 RE. ¥ ok (?__;)
R et S L
33 5 4 &b vy
16 o T3 >16
o 33 3Y Ly aT > &
$ Y.
12. The maximum value of f(z) = (:L'_2—T-—1)2 on [—1,1] is equal to \
£ )= %3 (X #1) . 2x
& |
o 33 (x=+1) 1 |
a) ——= (correct)
16 7 B A i 1 ‘
) L+ =40 | 32
4 .= i
(©) 0 () (1> e(-H)
( T __ -
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3?/5 Cﬂh“' i j |
(e) o oy -5 | -/ Se L 36
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13. The value(s) of ¢ satisfying the conclusion of the Mean Value Theorem when
applied to f(z) = v/2 — z on the interval [—7,2] is (are)

(a-) _'i _? ) : - ’ (coirect)
e Fly=FEH . Y o Feg P Ge—
(b) - and 7 "m 2V2-¢ ) z\2
1
() =3 & =D el
(d) —2 and —4 9 2 y2-¢ \
(¢) -2 \ L o
3 e T st A 4(2-9)
—) 02-¢ = 3"—\- = C = Z“l
\ ZH
o C = __:‘_ G( ( )
$ 3.3 T+ 2

14. If (a, b), where a > 1, is the point on the graph of f(z) =
line is parallel to the line 4z +y =1, then da + b =
. L::»):-Honﬂ o Slepe = -4

5 at which the tangent

A (correct)
(b) 7 J'(x) . B -(x+2) .\ 5 -9
S Lo (5¢-2)"
3
i : =4 = L — ( -2 2 \
((d; 1 2 g 5 (-'x‘ | -—__——_> (x___z)?_ = =Y ) X )
e
— e TR x -2 % |
e I d A b o®x = -
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